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Note |. Attempt any five questions choosing at least two questions from each section. All
questions carry equal marks.

li. Answer may be written in either English or Hindi; but the same language should be used
throughout.
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Q1 Between the balanced growth and unbalanced growth strategy which is better for a
developing country and why ? 20
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Q2.” Disguised unemployment is a hidden source of savings” .Examine the relevance of this
statement in Indian context. 20
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.Q3 Does economic development affect population growth? If yes then how? 20
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Q4.. What is the nature of poverty in India ?. What measures have been taken by the
government of India for reducing poverty it ? 20
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. QS Discuss the main sources of financing !ndian plans. In this context examine the role of -
deficit financing and its inflationary impact. 20
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Q6. What are the causes of low agricultural productivity in India ? What role has New
Agricultural Strategy ( Green Revolution ) played in improving productivity ? 20
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Q7. Do you agree with the statement that “Green Revolution had only a limited impact on
indian agriculture “. Give reasons for your answer. 20
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Q8 What is the industrial policy of 1956 and in what manner is the policy of 1991 an
improvement ? 20
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Q3 Examine the role played by small scale industries in the Indian economy. Enumerate the
problems faced by these industries. 20
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Q10. Write short note on any two of the following - 10+10=20

a. Finance Commission

b. Role of MNCs in India’s economic development
¢. India’s balance of payment problem.

d. Objectives of land reforms.
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